okt 2ol AFZHE ABCD ©f Wil & A P 7} 9lrk PC =
2\/§cm,ﬁ:3\/§cm o of, )62—y2 o] Zh2?

A

=D

-
-’

7
7
"\ 3vV2cm
4
T /

\ /
\
N

)
y/ P "Zﬁc\n\l

/

@ 9 ® 10



oS 1ok
J DABCD = §

9 ©l D]-_.EEO]
[ = E]‘ o] 1
H 1__(?

O 2
@ 243
o i @\/f ® 4
83




ol

A47HE ABC oA o] AH

ut

e 5

£ 199 of
(7

@ V2 @ 242 ® 33
@®4v2 O 5V2




B~5cm~

@ V2cm @ V3em ® V5cm
@ +6cm ® VTem



193} o] Hxe] o]z} 10cm 7 AABC 9] 7} S A B0 e
WL Wolg A7 S, .8y, 53 AV L 51455 455 o e
57

® 10mcm? @ 15xcm? ® 20mcm?

@ 25mcm? ® 30rcm?



6.

oS g e A4S ABC oA ZF FIS A 50 2 Sh= A
HH P, Q,RE 18 mf, A vt 9] Hol9] 9h29

T = 1= .

AP

O 64mcm? @ 70mcm? @ 8lmcm?

@ 100mcm? ® 1217cm?



7. ©hg 1%9] X249 ABCD o4 BE o] Aol g 7517

A D




8. oS 1319 AABC oA AB = 6cm, BC = 7Tem, CA = 8cm 9 o,
AABC 9] g o]& otH?




® 6,8,10

@ 6,23, V15
® b,

D 4,5,6

11,5

2, V3

@ 1,



10. th& T3} e AZHY ABCD ol HAC L A
BD % uf, OC 9] ol & Tstoier.

@ 5 @ 4
® 25 @ 1+ V14
® 313




11 A2 A A7} ehg 293 2ol AAA
olek. 7Vg 2 A7 ABC o & el

Zol7k6 4 o, AH ©] Zo]& F-5toizt.

@ 125«/§ 5 154«/3




12. & 2894 AB = 300, /A = 30°, «CBH = 45° ¢ of, CH 9

Zol?

0° A45°

C
|
|
|
|
Il
A 300"B T P

D 300(1+ V2) @ 300(1 - V2) ® 150(V3+1)
@ 150(V3-1) ® 150(V2+1)



13. o2 283 Zol B =90° Q1 A7 ABC A
o] A B oA AC o & 4] 2& H 2 5}
.J_’_,a+b+C: 10,@:5@110‘__,_1 ]]41’ }‘\:}‘Z]i—ﬁé

ABC 9] Hol& F5t4?

25
@ 25cm? @ 22 cm? @ B2

@ 5cm? ® 10cm?



u TN
ol
™ B° ~
=W <
gh &
> )
w3 Al +
,Aluﬂ (@} 0 m
B -
= N o @
N o
= oy B
— o] | N
2 E RO e
N S
Tod ﬂﬂﬂ, —
) +
o o o
I S
op mr W
GUNCY ©

14. ot

® 2004+ 100vV2 @ 200 + 2002

® 200+ 200 V3



15.

@ (44+4V2)cm
® (6+8v2)cm
®

@ (4+8V2)em

@ (84 V2)cem

- ) ~8cm”
/. 8cm




